ATA FRONTEND Ola
<DD(7:0)» —— DD(7:0) W_DAT(7:0) — W_DAT(7:0)
A
| DAO DAO AO A0
[ DAL DAL Al Al _
| DA2 DA2 A2 A2 i
| CSOn CSon DHO DHO
| CSin CSin DH1 DH1
| DMARQ DMARQ DH2 DHZ B
| DMACKn DMACKnN DH3 DE
WR_PULSE
| DIORN DIORn WR_PULSE ‘ £
| DIOWn DIOWn CLEAR CLEAR,
GEN_REG_ACCESS
[ RESETn RESETn GEN_REG_ACCESS ‘
| CSEL CSEL READ_ENABLE_OUT I REO> .
OBUF
o EAD_ADRS READ_ADRS SELECTEDN | SELECTEDn»
| REI | READ_ENABLE_IN DHON DHOn >
. IBUF
DR—DATU'O) —— R _DAT(7:0) DH1n DH1n ) ]
DH2n [ DH2n)
DH3n DH3n >
D
ATA-Port 8255 02
3 Ports 8255 Mode 0
2 Universal Ports
1 2 3 4 5 6 | 7 | 8




ATA REG_DECODE

ﬁo A0 ATA REG 2 \ PORT A
—F]
Al J
[ Al ATA_REG_3
A2 AND2
[ A2 ATA_REG_4
GEN_REG_ACCESS \ PORT B
L ‘ ENABLE ATA REG_5 : al
1
AND2
I PORT_C
: ol
Adressse 6H | I J
DH1 AND2
DF
DH?2 I CONTROLREG
[ AN : ol
DHO . * J
+— { AND?2
— DAT_ACCESS
DH3 ~ ‘ 5
o U
AND4B2 DIR_ACCESS
_PORT_D ﬁh READ_ADRS _
PORT_E A_/
_POR

OR3




DIR_ACCESS

'DAT_ACCESS

= AND4B1
9 N\ PORT_E_
aq__/
O
AND4B3
\ DIR_D
/
AND2
\ DIR_E
AND2
\ DAT_D
-
AND2
\ DAT_E

AND2

.




CLR

Qo
Q1
Q2

Q3

INV4  conrrovo.

CON'I'ROLlD

CONTROL3

W_DAT(7:0) W_DAT(O)I NV4 .
W_DAT(1) .
W_DAT(3) .
W_DAT(4) o
CE
WR_PULSE
T c
CLEAR
CLE
CONTROLREG
W_DAT(7)
W_DAT(6) | \
\
W_DAT(5) A_J
\
W_DAT(2) |
/
AND5B3

CONTROL4.

8255 Control Register




PORT 8255 01
A W_DAT(7:0) - ——DI(7:0) PORT (7:0) — {PORTA(7:0)> i
+ EORT—A WE DO(7:0) —— A—DQ(TOE
WR_PULSE
—— = WCLK B
CLEAR
— CLR
CONTROL4 {>O
= : OE _LO
INV
’ OE_HI B
PORT 8255 01
(—DI(7:0) PORT_(7:0) ——] {PORTB(7:0)> =
_PORT_B WE bo(7:0) == B_DO(7:0) _
WCLK
C C
CLR
CONTROL1 {>O
E : OE _LO
INV
OE_HI n
Ports A, B




PORT 8255 01

W_DAT(7:0) ——{DI(7:0) PORT_(7:0) —
DPORT_C WE DO(7:0)
WR_PULSE
. ‘ WCLK
CLEAR
CLE CLR
CONTROLO
L | OE_LO
CONTROL3 v
L | OE_HI
INV
C_DO(7:0)
sel 5a8
,L;A‘_DQ(7:O) ——1D0_(7:0)
E;_DC)(?:O) ——D1 (7:0)
I— .
—— D2 (70 p57.0
B_DQ(Y.O) ——{ D3 (7:0)
E_DQ(7:0) —— D4 _(7:0)
PORT A
~PORT_ S0
PORT_B
D L h— sl
PORT_C
CPORT_ S2
PORT D
CPORT_ s3
PORT E
PORT_ S4

<PORTC§7:O§ )

R_DAT(7:0) _

Port C and Read Data Selector




loport_08a

L\‘N—DAT(7:O) DI(7:0) DO(7:0) D_DO(7:0) =
DIR D
= WE_DIR
DAT D IOPORT(7:0) <PORTD§7:O§>
[+ — WE_DAT
WR PULSE
[+ — WCLK
CLEAR
[+ ‘ CLR

loport _08a

DI(7:0) DO(7:0) E—DQ(7:O) ]
DIR E
— WE_DIR
DAT E IOPORT(7:0) {PORTE(7:0)>
= —— WE_DAT

WCLK

CLR

Ports D, E




